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VYpouuie «binoo3epcbka nava”
HinbHuus | 36 | 0,5 10C3 99 0,60 | 1 27 32 360 3e | BCP | xomnnekc cToBOYypoBUX 20 =
Ne | WK IHUKIB =
] 37 12,2 10C3 99 | 045 | I 23 32 190 3e | BCP | xomnnekc cToBOypoBUX 15 é
LIKi THUKIB =
1 39 | 1,2 10C3 102 | 0,55 1 27 36 330 3e | BCP cToBOYpOBI MHUIII, 20 g;
BTOPHHHI 1UKiZHUKH S 2
4 3172 613(52)1T31Ak62/13(52) | 52 [ 0,70 | I 20 21 210 3 | BCP cToBOYpOBO- 25 g2
OKOPEHKOBi HHJI = g
9 10 | 2,5 10C3+13+JIng 97 10504 1 27 36 300 3e | BCP cToBOYpoOBI MHUII, 18 -% =
BTOPHMHHI WIKIHUKH = =
17 14 | 2,5 83t Inal Knr+C3+318 | 82 | 0,65 | 1 26 32 320 3 BCP cTOBOYpPOBI FHMII 25 %
18 11 11.0 10/13+C3 77 | 0,70 | 24 28 310 3e | BCP cToBOYpoBO- 25 =
OKOPEHKOBI FHUNT %
18 13 ] 3.6 1013+JInn 92 [ 065 | HI 23 28 225 3e | BCP cTOBOYpOBO- 25 %
OKOPEHKOBI FHMUi




2 |14 7120 | 10C3+ 13 107 1060 | 1 | 28 | 36 370 3¢ | BCP CTOBOYpOBI FHKAI, 20

JinbHnus f BTOPHHHI WKiAHAKK
Ne 25 |22 |16 10C3+ 13 52 10,70 1 19 | 20 260 3e | BCP | komnekc CToBOypoBnX 28 g
WKIAHUKIB %
33 12 | 18,7 10[13+6n+0c+C3 | 92 | 0,75 I 24 28 280 3e | BCP cToBOYPOBO- 28 =
OKOpEHKOBI THUJ )
35 | 4 0,9 10C3+13+0c 77 | 0,70 IA | 27 36 420 3e | BCP KoMMnexc CTOBOypOBHX 28 :
WKIAHHKIB S
35 |6 121 10C3+]13 72 | 0,70 IA | 26 | 28 400 3¢ | BCP | kommaekc CTOBOYpOBHX 25 3,
WIKIAHHKIB é
Bcebworo: | 56,0 5
55 |8 |35 10C3+ 13 57 10,70 IA | 25 26 380 3¢ | BCP | kxommnekc CTOBOYPOBUX 25 §
JinbHuus WKiJAHHKIB =
Ne 2 56 |7 168 10C3 65 | 0,65 IA | 26 28 373 3e | BCP | xommyekc CTOBOYPOBHX 25 2
[IKiAHHKIB =
59 |13 0,7 10C3 62 | 0,50 Ib 27 32 300 3¢ | BCP KOMIUIeKC CTOBOYPOBHX 18 E
[KiIAHUKIB z
59 |4 0.6 9131C3 97 | 0,60 ]| 25 30 252 3e | BCP cToBOYPOBO- 20 E
o

oxopeHKOBi rHWI

Bceworo 11,6

Pazom 67,6

Jupextop JO “JIT' “Bi.rl003epc1>|<e”v'i, B. [Ilapanka

“« of” o+ 2020 poky




